ENDEFR ES

INSTRUCTION MANUAL/BEDIENUNSANLEITUNG/
NOTICE D'UTILISATION/MANUAL DE INSTRUCCIONES DE USO

A B

2pcs 2pcs

D _ F

%‘ ))))m \mmunm.
M8x40 6pcs ST6X60 4pcs
E . G
M8 6pcs | ®10x40 4pcs

ASSEMBLY/MONTAGE/ASSEMBLAGE/MONTAJE

1

D:6pcs
E:6pcs
F:4pcs
G:4pcs

TecTake GmbH
Tauberweg 41, D-97999 Igersheim, Germany



ORIGINAL INSTRUCTION MANUAL
RETAIN FOR FUTURE REFERENCE

1. Inset the 1-side connection tubes A (2 pcs) into the tubes B (2 pcs) and fix them with the bolt M8 (D) and

the nut M8 (E).
2. Attach the racks C (3pcs) on the assembled tubes, which serve as the base of rack and fix them with the

bolt M8 (D) and the nut M8 (E).
3. According to the position of the holes in tubes,dig four small holes in the ground. Insert the rawlplug (G)

into the holes. Tighten the bolts M6 (F) through the holes in tubes in tubes in the pre-assembled rawlplug
to secure the bicycle stand on the ground.

UBERSETZUNG DER ORIGINALBETRIEBSANLEITUNG
FUR KUNFTIGE VERWENDUNG AUFBEWAHREN

1.Stecken Sie die 1-seitigen Verbindungsrohre A (2 Stk) in die Rohre B (2 Stk) und befestigen Sie sie mit der
Schraube M8 (D) und der Mutter M8 (E).

2.Setzen Sie die Bugel C (3Stk.) auf die zusammengebauten Rohre, die als Basis fur die Bugel dienen und
befestigen Sie sie mit der Schraube M8 (D) und der Mutter M8 (E) .

3.Graben Sie entsprechend der Position der Locher in den Rohren vier kleine Lécher im Boden. Setzen Sie
die Dubel (G) in die Lécher ein. Ziehen Sie die Schrauben M6 (F) durch die Locher in Rohren in den
vormontierten Dubel fest, um den Fahrradstander auf dem Boden zu befestigen.

TRADUCTION DU MODE D'EMPLOI ORIGINAL
A CONSERVER POUR UNE UTILISATION FUTURE

1.Insérer le tube de connection A (2 piéces) dans le tube B (2 piéces) et fixer les avec la vis M8 (D) et I'écrou
M8 (E).

2.Placer I'étrier C (3 piéces) sur les tubes ainsi montés qui servent de base pour I'étrier, et fixer le avec la vis
M8 (D) et I'écrou M8 (E).

3.Faire 4Petits trous dans le sol correspondant a ceux dans les tubes, Placer les chevilles dans les trous.
Visser les vis M6 (F) a travers les trous du tube dans les chevilles, afin que votre ratelier a bélos puisse étre

solidement ancté dans le sol.

MANUAL DE INSTRUCCIONES DE USO DEL FABRICANTE TRADUCIDO
CONSERVAR PARA SER LEIDO POR CADA NUEVO USUARIO, ANTES DE

UTILIZAR EL ARTICULO POR PRIMERA VEZ

1.Inserte los tubos de conexion A (2 piezas) en los tubos B (4 piezas) en los tubos ensamblados y
fijelos con los tornillos (D)y las tuercas (E).

2.Fije los soportes de rueda C (3 piezas) en los tubos ensamblados vy fijelos con los tornillos (D)y las
tuercas (E).

3.De acuerdo con las posiciones de los agujeros de los tubos, excave cuatro agujeros pequenos en el
suelo. Inserte los tacos (G) en los agujeros. Apriete los tornillos (F) a través de los agujeros de los
tubos en los tacos ensamblados para anclar al suelo el soporte de bicicletas.




